
 

Partitioning Decimals 
Tenths 

 
1.4 

 

                                              __________       +       __________         =        _________  

     

 

2.8 

 

                                              __________       +       __________         =        _________  

         

 

3.3 

 

                                              __________       +       __________         =        _________  

             
 

 

_______ 

 

_______ 

 

_______ 

 

_______ 

 

_______ 

 

_______ 



 

Partitioning Decimals Answers 
Tenths 

 
1.4 

 

                                              _____1_____       +        __0.4____         =        ______1.4___  

     

 

2.8 

 

                                              _____2_____       +        __0.8____         =        ______2.8___  

         

 

3.3 

 

                                              _____3_____       +        __0.3____         =        ______3.3___  

             
 

 

___1__

 

___4__

 

__2___

 

___8__

 

_______ 

 

_______ 


